
CM2 X20 ; X30 ; X40 

 

 X	20	
	
Quand	je	multiplie	par	20,	je	multiplie	par	2X10	
Ainsi,	pour	multiplier	par	20,	je	me	dis	«	X2	et	je	rajoute	un	0	»	
Rappel	:	3	X	2	=	3	+	3	
	
Ex	:		
3	X	20	=	(3	X	2)	X	10			

												V	
																			6	X	10	=	60	
	
	
	
X	30	
	
Quand	je	multiplie	par	30,	je	multiplie	par	3	X	10	
Ainsi,	pour	multiplier	par	30,	je	me	dis	«	X	3	et	je	rajoute	un	0	»	
Rappel	:	6	X	3	=	6	+	6	+	6	
	
Ex	:		
6	X	30	=	(6	X	3)	X	10			

												V	
																			18	X	10	=	180	
 
 

X	40	
	
Quand	je	multiplie	par	40,	je	multiplie	par	4	X	10	
Ainsi,	pour	multiplier	par	40,	je	me	dis	«	X	4	et	je	rajoute	un	0	»	
Rappel	:	12	X	4	=	(12	+	12	=	24	;	24	+24	)	=	48	
	
Ex	:		
12	X	40	=	(12	X	4)	X	10			

														V	
																					48	X	10	=	480	
 

 


